Ludbpwo N 6
Gnlwl punwph wjwqulnt
2010 pywlywmGh ntymtiptiph 23-h
N 169 -U npnpiw G

GrEd UL 2011 EJdULULh A3NRGD JULOUHUL B HNLAUBHL ULUGLRS {USUUSNRULELE 2US

A3NFRAGSUSPL OUUG h GNrOUNULUYL BY. SLSEUUGhSULGUL AUUULGULG-UTL

(hwquip gpuiGlpny)
z £nigtinmwhG dwiuutnh gnpéwpwywb puuwlmpgiw i wyn pynid’
Z % ‘%"‘ 5 pwdhGGtph, fudptiph L nuubkph, hGswbu Gwl pymetnuhG ‘S = P —
:E', 2|5|¢| owlubph wmembuwghwusluG puuwlunguw hnngwoGtph g2 R Jwpswlwe pymet | $nlnwihG pyogt
wijwGniiGtpp ~
1 12(3]|4 5 6 7 8 9
oLHUUGLE DU UER 58,296,447.9 55,756,301.9 5,356,267.0
LLAULAR RLNFBED {ULAUSRL
2100|01|0]0 SUNUSNRE3NFLLER 6,309,359.0 5,131,252.1 1,178,106.9
wn pynud”
OnpbGunhp L gnpownhp swupdhG6bp, whnwlpul Junuwyjupnid,
2110|01| 1 O | ppbwlmulut I hwplpupmgtinw hl hwpuptpmpmG6bp, 5,806,343.9 4,917,681.5 888,662.4
wmnwphl hwpwpbpmpym GG6p
nphg
2111/01) 1] 1 |[OpkGunhp L gnpownhp dwpdhGGtp,whnwlwl unwywpnd 5,806,343.9 4,917,681.5 888,662.4
wyr pynid”
1. Gupunjupdwl JwpdGh ywhuwGnd 5,166,695.8 4,917,681.5 249,014.3
-UpuwwnnnGtph wpuwwmwywpdtip b hwytjuwydwpltp 4111 2,663,129.0 2,663,129.0 -
liﬁ“u]ll;:g;};lwmpmﬁﬁhp, nnuiwjui jupwhuntundGtip b hwnmy 112 265,048.9 265.048.9 )
-Unghwjuwl wywhnynipju yGwpGtp 4131 489,914.3 489,914.3 -
-EGhpgtinhy dwnwynipymGGtip 4212 188,136.0 188,136.0 -
-UniniGu) dwnwynipymGGtp 4213 26,534.3 26,534.3 -
-Quuh dwnwjnipyntGhtn 4214 182,621.5 182,621.5 -
- Uywhnjuwqpuiw swiuutip 4215 4,462.0 4,462.0 -
-Qniyph L vwppwynpnidGtph Jupdwlwnipnia 4216 142,410.0 142,410.0 -
-UpnwuwhiwGjul qnponunuiltph qony dwluubin 4222 84,610.0 84,610.0 -
—Jwpswlul dwnwjnipmbatn 4231 3,346.0 3,346.0 -
-LwiwlwpgswyhG SwnwynipniGhtp 4232 25,396.0 25,396.0 -
éfri‘?;‘f;jﬁggg dwulwghuulul qupgugiwl 4233 10,868.0 10,868.0 ;
-Stintjuunyuwlwl dwnwjnipnGatp 4234 42,460.1 42,460.1 -
-Gunwyupswlwl ownwmpyniGGtp 4235 10,000.0 10,000.0 -
-uhpyujywgnigswliwl dwhuutip 4237 117,700.0 117,700.0 -
-CGnhwGnip pGnyph wy ownwmpymGGtp 4239 139,762.1 139,762.1 -
-Uwulwghnwlywb ownwnipniGGtp 4241 12,665.8 12,665.8 -
L;{lllu'b}fglzlﬁuué::iélh L uwppwynpmuiGtph pGpwghy Gnpngnid L 4252 137,871.0 137,871.0 )
-QnuutiGyuyuwjhG Gyniptip L hwgniun 4261 96,273.1 96,273.1 -
-SpwGuwnpumwjhG Gyniptn 4264 209,431.5 209,431.5 -
-UtiigunujhG L hwGpwjhG uGGnh Gynipbp 4267 29,584.5 29,584.5 -
~wunty Guuumwluwyhl wy Gyuptp 4269 2,605.0 2,605.0 -
-Uj1 GywuwnGhp pynigtihg 4729 18,920.0 18,920.0 -
-Mupwuwnhp yGwpGtip 4823 1,932.4 1,932.4 -
-Uj1 dwfuubin 4861 12,000.0 12,000.0 -
- SpwGuwnpuwghG vwppwynpnidlbp 5121 131,500.0 - 131,500.0
- Jwpgwlwl vwppuwynpniiGhn 5122 116,674.3 - 116,674.3
-Ny Gynpwlwl hhiGuywb ShongGtip 5132 840.0 - 840.0
2. JuwpswljwG opjblinGph hhdGwlnpngmy 639,648.1 - 639,648.1
- Chiliptiph L 2hGmpynGGtph Juwhwwy Yepwlnpngnid 5113 638,990.3 - 638,990.3
- Uy ubiptGuGtp L uwppwynpnidGhip 5129 657.8 - 657.8
2130|01] 3| 0 | 2aghwlimp plnijph ownrwjnip/mGGhap 41,695.6 41,695.6 -




= £ymetmwhG dwhubnh gnpdwewywl guuwwpgiui o wyn pynud”

z =K 3| pwdhGthph, wiptph L nwubph, hGswbu Guwl pymetnwhG 2z Clnwiti

E 3 E | owfuutiph mGmbtuwghmwlwb nuuwywpqiwl hnguoGsph g z 1 t Jupswlwl pyoigl | PnGrughG pymet
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1 12(3]|4 5 6 7 8 9
nphg”

213101 3| 1 |V2tuwnwlwauh fqunptinh/ gang pnhwnip pniph 41,695.6 41,695.6 ;
dwnwnipniGGtp
wyn pymud
1. LPunuwpwughwlpub jugnpjul wink wlgduil
ownwmpul onLGmpnul Jugiwlbnuniy 41,695.6 41,695.6 -

wunifhpwlpjud (hugnpnipini GGG,

-UpuwunnnGph wuwmwyundtin b hwybjuywpGhn 4111 28,961.1 28,961.1 -
-Unghwjuyu 6 wwywhnynipjub yawnbtip 4131 6,281.7 6,281.7 -
-EGhpgtinhy dwnwynipymGGtp 4212 2,950.3 2,950.3 -
-UniniGw) dwnwjnipjniGatp 4213 293.9 293.9 -
-GQuuyh dwnwynipmGGtp 4214 366.7 366.7 -
-Qniyph b vwppwynpniiGtph Jupdwywnipyni 4216 804.0 804.0 -
-QnuutiGyuyuwjyhl Gyniptip L hwgniun 4261 1,987.9 1,987.9 -
-UtlGgunujhG L hwGpwjhG uGGnh Gyniptp 4267 50.0 50.0 -
Llnhwlmp pGnyph hwlpwihl ownuwynmpjmGGaph Qom]

2150|01|5(0 hbunuqmaulu L Guluwgdwhl wyfuunwbptp 289,444.5 - 289,444.5
nphg’
Canhwlmp pGnyph hwlpwjhG SwnwynipyniGhitph qony )

21511011511 htimwgnunuljub b Gwuwgdwihl wyuwwnwiplbp 289,444.5 289,444.5
wn pynud”
1. bwfuwqgdéwhl wyfuwmuGpGhp 239,444.5 - 239,444.5
- Lwjuwqowhtinmwgnunuywl dwuutp 5134 239,444.5 - 239,444.5
2. bplwl uw un/np hunnwljuqdh dpqpuimy 50,000.0 - 50,000.0
- Lwfuwgqdwhbmwgnunuljwui dwhiubp 5134 50,000.0 - 50,000.0

2160l01l 6] 0 Lanhwlnip plnijph hwlpnwhG ownwynipymGGhp (wy nwubphl 171,875.0 171,875.0 )
Jyuunlumlng)
nphg”

2161l01l 6] 1 CanhwGmp pGnyph hwpwyhl SwnwynipynGGtp (w)) puubtphl 171,875.0 171,875.0 )
swywwnwlng)
wyn pynud”
1. dpdmdGhp, hw unifGlip, puunwmuGh npnymuGhph b

Ghph nbd JbpupGGhs L Jdnupk np Gl 41,400.0 41,400.0 -

GhplyuryugGhphu vwhdw wd JowpnidGh,
-Muwpunwnhp ydwplbp 4823 41,400.0 41,400.0 -
2. @mph Ghunndwdp hpunjm GpGh; wlgdwl L
wbnbyuwunynipjwl mpuduppdwl htun Juwwjwd Jowpnid6h; 130,475.0 130,475.0 i
-Uwulwghnwlw6 ownwjnipniGGtp 4241 59,175.0 59,175.0 -
-Mupwuwnhp yGwpGtip 4823 71,300.0 71,300.0 -

2200102|0]0 MUCSNULNME3NFL 49,320.0 49,320.0 -
wyn pynud’

2220(02| 2 | 0 |LRwnuwpwghwlub wuwymuulnipin G 22,500.0 22,500.0 -
nphg

2221)102] 2| 1 [Lwnupwghwlwl yuwpwmuwwlnipyn b 22,500.0 22,500.0 -
wyn} pynud’
1. Runuwpwghwlpul wuwymupulnpnull wowlgnipn i 22,500.0 22,500.0 -
-CGnhwnip pnyph wj SwnwympyniGGtp 4239 1,000.0 1,000.0 -
-QGnuutiGyuywyhG Gyniptip L hwgniun 4261 1,600.0 1,600.0 -
-SpwluwynpuwjhG Gynipbp 4264 870.0 870.0 -
- Uy pGpwghy npuiwy GnphGhip 4639 19,030.0 19,030.0 -

2250102 5 | O | Nuwpmnuyulinipyni G (wj; nuubphl swyyunnlpuwGng) 26,820.0 26,820.0 -
nphg

2251(02| 5| 1 [MwyunwuwlnipjniC (wyp nuubphG syywwnljwlnn) 26,820.0 26,820.0 -
wyn} pynud’
1. Qnmulnsh Juqiwhbpudiw(6 wowlgnipim i 8,820.0 8,820.0 -
-Qnuyph L vwppwynpmuiGhph JupdwwinipniG 4216 4,250.0 4,250.0 -




£ymeotmwjhG dwiuutinh gnpowpwwl nuuwwupqiwl

wyn pynid”

P
Z % ‘%"‘ § pwdhGGtph, fuiptiph L nuubph, hGsutu Gul pymetnwjhG ‘B = Clnwiti
E 2|5|¢| owluubph nGwbwughwulut nuuwlupguwe hnpdwottph | F 2 R Jwpgwlwe pynigt | pnbnwhG pynigh
wljuGnmuiGhpp ~
1 ]12(3]4 5 6 7 8 9
-QnuutGyuyuwjyhG Gyniptip L hwgniun 4261 1,000.0 1,000.0 -
-SpwGuynpumwjhG Gyniptp 4264 3,570.0 3,570.0 -
2. Onpudwubiph@ wowlgnipjm G 18,000.0 18,000.0 -
- U1 pGpughy npuiwpGnphGp 4639 18,000.0 18,000.0 -
2400|04|10]0 SLSEUULUL <ULULELNRME3NRLLER 6,289,698.8 14,841,046.5 (8,551,347.7)
wyn pynud’
2420{04| 2| 0 gﬁ?)‘;ﬂ‘fp‘;‘;ﬁ;ﬁfﬁ;ﬁgﬁgwfﬁﬁ wlunbunipjal, 315,954.4 15,954.4 300,000.0
nphg
2421(04]| 2| 1 {9 ynuquunbGunbunpynil 4,200.0 4,200.0 -
wyn pynud’
1. QymnuinGnbumlul hlnuGhis, wwnyjwumnmy 4,200.0 4,200.0 .
-UwuGughnwlwi dwnwnipniGap 4241 4,200.0 4,200.0 -
2424|04] 2| 4 [Nnngnud 311,754.4 11,754.4 300,000.0
wyn} pynud’
1. Nnnquwl gl wpmgmy L Japuln, 1f 311,754.4 11,754.4 300,000.0
-Ctiiptiph L YunniygGph pGpughy Gnpngmy L wjwhwywGmyd 4251 11,754.4 11,754.4 -
- Chliptiph L hGnipyniGGtph Yunnigmy 5112 300,000.0 - 300,000.0
2450|04| 5| 0 [ SpwGuwynpn 20,119,181.9 14,541,542.1 5,577,639.8
nphg
2451104| 5 1 |GwGwuywphwjhG wpwGuynpnm 9,872,447.5 4,377,998.6 5,494,448.9
wyr pynid”
1. Uupwpn-plannbyu owolhh Jbpwlbnpngnd L upwhwwGnid 4,204,000.0 4,204,000.0 -
-Chlptiph L unnygGtph pGpwghy Gnpngnid L ywhww Gnid 4251 4,204,000.0 4,204,000.0 -
2. Uupwpn-plannlijw owolh hhdGwlnpngnid 716,000.0 - 716,000.0
- Chliptiph L phGmpjniGGtph uuwhwwy Yepwlnpngnid 5113 716,000.0 - 716,000.0
3. Bqpupwnpliph Jbpwinpngnig 15,998.6 15,998.6 -
-Chiiptiph L JunnyygGtph pGpwghy Gnpngnud b wjuwhujw Gnud 4251 15,998.6 15,998.6 -
4. <bGuuunnbph JspuwGn f 104,797.4 - 104,797.4
- Cllptph L phGmpjniGGtph unmgnud 5112 2,797.4 - 2,797.4
- Cliliptiph L phGmpniGGkph uughnwy Yhpuwlnpngnid 5113 102,000.0 - 102,000.0
5. mnpmnG wlgniiGhph Junnigniy L JbpulGn i 385,868.9 26,000.0 359,868.9
-Chiliptiph L YuwnnygGtph pGpwghy Gnpngmd L wywhww Gnod 4251 26,000.0 26,000.0 -
- Chliptiph L phGnipyniGGhph unnigmy 5112 359,868.9 359,868.9
g st‘"dw -~ dﬁ waniguwoplbph Jbpuljuwliqlnd b 675,000.0 90,000.0 585,000.0
-Uj1 dwfuubip 4861 90,000.0 90,000.0 -
- Chliptiph L hGnipyniGGtph Juwhwuwy Yhpwlnpngnuod 5113 585,000.0 - 585,000.0
7. {mugnubh fhndh pupbljupgonid 2,000.0 2,000.0 -
-Chlptiph L yunnygGtph pGpwghy Gnpngmid L ywhwwGnid 4251 2,000.0 2,000.0 -
8. Ui Gbph L nglbph Jbpwlwnnigmy L
S Gwtin o 3,728,782.6 - 3,728,782.6
- Chiliptiph L 2hGmpynGGtph Juwhwwy Yepwlnpngnid 5113 3,728,782.6 - 3,728,782.6
9. dnnng(h; whwywlmy L pwhwenpdmd 40,000.0 40,000.0 -
- U1 nGpwghy npuiwGnphGtp 4639 40,000.0 40,000.0 -
2455]04| 5| 5 [funnnyuiwwpuwjhG b wy npuGuwynpun 10,246,734.4 10,163,543.5 83,190.9
wyn} pynud’
1. JbpbpwGbph hhdGuwlnpngnid 89,190.9 6,000.0 83,190.9
-UnipupnhwGbp ny whnwluwG (ng hwiwjGpwjhG) n 4521
fppﬁufﬁlﬂiwa lrllulal.lillll.lllhpul.llnlpj(rnz[iﬁhphﬁj puat)ne 6,000.0 6,000.0 )
-Ujp dbiptiGuGbp L vwppwynpnuiGhp 5129 83,190.9 - 83,190.9
2. GplauGh snpnuymhnblnyg malopunhnfuminpoidGs,
ownwmpni GGt wwnyhnwyywo (hwgnpnipni GG 1,645,000.0 1,645,000.0 i
-UntpuhnhwGbp ng hlwGuuyub whnwub (hwdw)lGpujhG) 4511 1,845,000.0 1,845,000.0 )

JuquiwybtpynipniGGaphG




= £ymetmwhG dwhubnh gnpdwewywl guuwwpgiui o wyn pynud”
z =K 3| pwdhGthph, wiptph L nwubph, hGswbu Guwl pymetnwhG 2z Clnwiti
E 3 E | owfuutiph mGmbtuwghmwlwb nuuwywpqiwl hnguoGsph g z 1 t Jupswlwl pyoigl | PnGrughG pymet
wljuGnmuiGhpp ~
1 12(3]|4 5 6 7 8 9
3. dbnglnlyw LEynpunpwGuynmnny nuglopuhnfuunndub
3. UbpgbwnGu Lilmpunnpu Guunmnny niglopunjn, Yl 276,000.0 276,000.0 )
dwpwmpnil
-UnipupnhwGtp ny $hlwluwyub whnwub (hwiw)lGpujht) 4511 276,000.0 276,000.0 )
JuqiwybtpynipniGGtphG
4. dkpuljwpmgdwl L qupqugdwl Eypnuwlwl puGyh
wowlgmpnudp hpwluGu LwGh sbwmpnunihnbg, 1,476,703.3 1,476,703.3 -
tpuwljunnigdw G oy unnifipwljjwo jhwgnpnip o GGG,
-Uj1 dwluutip 4861 1,476,703.3 1,476,703.3 -
5. & wlhwé Gk 1fwrhl pulih wowlignip ]
wiljwlw LuuGh dtn, mphinbGh Jipuljupm gl G 3,279,920.1 3,279,920.1 -
w wwnyhpuljwo jhugnpnipni GGG
-Uj1 dwuubp 4861 3,279,920.1 3,279,920.1 -
6. Gypnywlwl shnipjul huplauGmpud GepnpnidwhG
w wowlgnipjuiip hpuljw G LG,
dtanpnynihintiGh Jbpwlwenigdn ppuniwyGnphwghl dpuw 3276,920.1 9275,920.1 i
wwnyhpwlud jhugnpmipini GG,
-Uj1 dwuutp 4861 3,279,920.1 3,279,920.1 -
2490(04| 9 | 0 | SGwmbuwljwmb hwpwpbpmpym GGk (wyy puubphl supunnlulng) (14,145,437.5) 283,550.0 (14,428,987.5)
nphg”
2491|04| 9| 1 |SGunbuwywl hwpwpbpnipyniGGatnp (wyp puubphG swwwnljwlng) (14,145,437.5) 283,550.0 (14,428,987.5)
wjn pynui’
1. Dpnylbph nbnuwgpoid 67,000.0 20,000.0 47,000.0
- Uy pGpughy npuiwpGnphGip 4639 20,000.0 20,000.0 -
-Ujmiptip L wwpuwqulbp 5221 47,000.0 - 47,000.0
2. Upwlignipym G hwdw jGpuighl ququwybpuynipjm GGaphG
hnmuipluninpmipim G66ph htn unyywd wbiydwp
SwnwnipymG6tph dunnnigdwl L gbpbquwunnGbph 25,5500 23,550.0
wuhwwldwl hwdwn
- CGpwghy npuiw)GnphGlp whnwywl b hwdw)GpGtph ng )
wnlnpwihl jugqiwybpuynipniGGaphG 4637 235300 23,5500
.
3. Guwpunjupiwl L wmbnbwujwliwl wmbfulninghwbph 100,000.0 100,000.0 )
qupquigniy
-UnipuhnhwGtp ng $hGwluwul yhmwlwb (hwdw)GpuyhG) 4511 100,000.0 100,000.0 )
JuquwybpynipniGGtphG
4. Ugwlgnipym G hwdwjGpwihG L ns hwdwGpwihG )
wadwlbnumnie GGk ianbnhG 140,000.0 140,000.0
- Uy pGpwghy npuwiw)GnphGtip 4639 140,000.0 140,000.0 -
5. 15 phGwbuwlpub wilmhiGbph omwpnishg Umuph (14,475,987.5) - (14,475,987.5)
-UGpwnd qnijph hpwgnuihg tnunpbp 8111 (7,475,987.5) - (7,475,987.5)
-&nnh hpwgnuthg dnunpbp 8411 (7,000,000.0) - (7,000,000.0)
2500{05/0]0 cLUuUU Uh2UJU3CLh NMUCSMULNR3NFL 5,507,138.9 5,058,437.9 448,701.0
wyn pynud’
2510|05]| 1 | O | UnpwhwGntf 3,262,400.6 3,253,845.6 8,555.0
nphg”
2511|05| 1| 1 |UnpwhwGnud 3,262,400.6 3,253,845.6 8,555.0
wjn pynui’
1. Uwlhmwpwilpwl dwppmy 3,262,400.6 3,253,845.6 8,555.0
-UniniGu) dwnwynipymGGtp 4213 3,232,845.6 3,232,845.6 -
-Guuwhwnwy ngpudwp Gnphltp yhmwyuw 6 L hwdwjGpwjht )
wnlanpuwijhG jugqiwlbpuynipniGGaphG 4656 21,0000 21,0000
- Uy dtiptiGuGtp L vwppwynpnidGbn 5129 8,555.0 - 8,555.0
2530(05| 3| O | Cpowlu dhowuyph wpmmniswl g uywpwnp 43,399.7 43,399.7 -
nphg”
2531)05] 3| 1 [Onh wnuunundw nbd ywjpwnp 43,399.7 43,399.7 -
wyn} pynud’
1. Qtanbph hmiGhph dwppmd 43,399.7 43,399.7 -
-UniniGwy dwnwynipniGhtp 4213 43,399.7 43,399.7 -




£ymeotmwjhG dwiuutinh gnpowpwwl nuuwwupqiwl

wyn pynid”

=z
z % g 3| pwdhGthph, wiptph L nwubph, hGswbu Guwl pymetnwhG 3 z Clnwiti
E 3 E | owfuutiph mGmbtuwghmwlwb nuuwywpqiwl hnguoGsph g z 1 t Jupswlwl pyoigl | PnGrughG pymet
wijuGniGtpp ~
1 12(3]|4 5 6 7 8 9
2560l 05| 6 | o | CREWYw Yhowusiph wwzuywbnipinG (wy) puubphi 2,201,338.6 1,761,192.6 440,146.0
JuwunlywGng)
nphg”
2561/ 05| 6| 1 |Crewlw thgwunh wwawnuywlngpgm (wji puutpht 2,201,338.6 1,761,192.6 440,146.0
suunlwilnng)
wyn pynud’
1. Qwlws inwpwoplbph hhdGmd L wwhuywlndg 1,367,246.0 1,077,100.0 290,146.0
-UniniGw) dwnwjnipniGGatp 4213 1,032,100.0 1,032,100.0 -
-Qwuny GywwmwlwjhG wyy Gynipbp 4269 5,000.0 5,000.0 -
- RGpwghy npudwyGnphGbp whnwlywl bW hwiwjGpwihb )
wnlanpuh YugSulbpunipnGakpht 4638 40,000.0 40,000.0
- Chliptiph L phGmpyniGGtph Yunnignid 5112 290,146.0 - 290,146.0
2. UnnwhwGdwl b vhownwqbpddwl SwnuympimG6ip
2. UpunwhwGdw( b dhounnuqbpodwl ownwjmpim (6L, 39,900.0 39,900.0 )
/pbpunnhqughuw/
-UniniGw) dwnwjnipjniGatp 4213 39,900.0 39,900.0 -
3. {wuwpwlpului gniquipnuGak; whuywimy L 4,192.6 41926 )
yYbpulinpngnid
-Unint(Gw) dwnwjnipyntGhtnp 4213 4,192.6 4,192.6 -
4. Uhquwipgliph uwmnbnoniy L wujwwmnitf 340,000.0 190,000.0 150,000.0
-Lwwnnty GyumwywjhG wy Gyniplip 4269 190,000.0 190,000.0 -
- Chliptiph L phGmpyniGGtph Yuwhww) yepwlnpngnid 5113 150,000.0 - 150,000.0
5. Upwligmipni 6 hwduyjGpuihG jwquubpyympm G6G6phG
tpdnglGbph L 2hGmpmG6E; wpengiwl L ywhwenpodw i 270,000.0 270,000.0 -
UbipbGwGtpp L uwppwynpmulbph dbnp phpdul hudw,
-Guuwhwwy npudw) GnphGtp yhnmwywl W hwdwyGpujhG )
wnlunpwihl juqiwybpuynpniGGaphG 4656 270,000.0 270,000.0
6. Purhwnpng YhGnwlhGhph JGwuwqbpomy 180,000.0 180,000.0 -
-Uy dwfuutip 4861 180,000.0 180,000.0 -
fuLiyurtuishv ChvliruenNke3Nku U
2600(06/0]0 10,622,993.2 6,866,224.1 3,756,769.1
UNUNKFLUL UL USNRME-BORL ' ' ' ' T
wyn pynid”
2610|06] 1 | 0 | RGwywpwGughl phGwpwpnipjnG 2,117,943.0 17,250.0 2,100,693.0
nphg”
2611(06] 1| 1 [RGwywpwGuwyhG phGuwpwpnipyni 2,117,943.0 17,250.0 2,100,693.0
wyn pynud ©
1. bPlipGwlwd Juwnpnijgll w gy 17,250.0 17,250.0 -
-Uj) dwfuubp 4861 17,250.0 17,250.0 -
2. Gppnpn wunhdwGh Jwujwompul puqlwpluwjupu i
Ypwpuwjhl pbGpbph JhipwlunmgdwG, Jhipuwlwligdwi L 350,000.0 - 350,000.0
widpuwgiwl wyfuwmuGpGhp
- Cliliptiph L phGmpniGGkph Guughnwy Yhpuwlnpngnid 5113 350,000.0 - 350,000.0
3. Onppnpn wumhdwlh JpwpwjhG pkGpbnh pwGndw G
hbwnlaulGpny pulmwpuompini 66bphg qplyuo pGuilihsGhph 1,750,693.0 - 1,750,693.0
thnfuhunnmguwl hwdwp pLGpLph Jwnnignid
- Chliptiph L 2hGnipjniGGhph unnigmy 5112 1,750,693.0 - 1,750,693.0
2630(06| 3| 0 | 2pwdwmnwjupupnty 3,814,963.9 3,814,963.9 -
nphg”
2631(06]| 3| 1 |2nuiwwnwupwpnid 3,814,963.9 3,814,963.9 -
wyn pynud’
1. QwdupuwphughG puGih wowlgmprudp hpuljwGw
L wdunnwwpupiwl L 9pmuhbtinwgdul dpu 1,099,356.6 1,099,356.6 -
uwnnyhpwlwo jhwgnpnipini GGk,
-Uj1 dwuubp 4861 1,099,356.6 1,099,356.6 -




= £ymetmwhG dwhubnh gnpdwewywl guuwwpgiui o wyn pynud”
z =K 3| pwdhGthph, wiptph L nwubph, hGswbu Guwl pymetnwhG 2z Clnwiti
E 3 E | owfuutiph mGmbtuwghmwlwb nuuwywpqiwl hnguoGsph g z 1 t Jupswlwl pyoigl | PnGrughG pymet
wijuGniGtpp ~
1 1(2)3]|4 5 6 7 8 9
2. dpwluhwih {wlpwybinmpul jupujunmpuG
wowljgmpjudp hpwlulw Liud, wwwmwwpupdu i
L gpwhbpwgil opwgphl npuwi wmbfubhljulwi 2167,282.5 2.167.282.5 i
wowlgnipyul opul wwnyhpulywo hugnpmipmni GGG
-Uj1 dwuutp 4861 2,167,282.5 2,167,282.5 -
3. bpwbupwh <wlpwybnnpnul junuyupmpuld
wouljgnip iy wijGw Ll wilwwmwjuwpwpnduwd
L gpwhbnwguul opwgnhl npwy wbfulhljulwi 218,324.8 218,324.8 -
wowlgnipjul nuuidwyGnphuijhG opw wwnyhpulfud
[wqnpnipniGGhp)
-Uj1 dwuutip 4861 218,324.8 218,324.8 -
4. fodbym oph dunnwlwpupdw@ b gpwhbnwgdul
4. ubym dwmuwlupupdwi L 9gpuwhbnugdu G 330,000.0 330,000.0 )
Swinw nipm GlGEph unipupguinpmd
-UnipuhnhwGtp ny whmwluwa (ny hwiwjGpwjhG) ng )
Phlwluwljul jugiwybpympmGGaphG 4521 330,000.0 330,000.0
2640(06| 4 | O | Pngnglbph pnuwynpmif 2,168,000.0 1,736,000.0 432,000.0
nphg”
2641106 4| 1 [®nnngGtiph (nuwynpnid 2,168,000.0 1,736,000.0 432,000.0
wyn pynud”
1. Upmnwphl jmuunnpmpjul guiigh hhuGwlnpngmy 325,000.0 - 325,000.0
- Cliliptinh L phGmpyniGGtph Yuughnwy Jtpuwlnpngnid 5113 325,000.0 - 325,000.0
2. Umnwphl muwynpmpjw qulgh zwhugnpovwl L )
S S Sy 1,696,000.0 1,696,000.0
-Uj1 dwluutp 4861 1,696,000.0 1,696,000.0 -
3. Ugwlignipym G hwdwjGpwishG wquubpympm GG6EphG )
UtipbGultph dbpp pbpdwl hwdwn 40,000.0 40,000.0
-Guuwhwnwy ngpudw) GnphGtp yhmwyuwl L hwdwjGpwjht )
wnlanpuwijhG jugqiwlbpuynipniGGaphG 4656 40,0000 40,0000
4. «Gppwnniju» PLL-h LGpLph Gopngnnf 57,000.0 - 57,000.0
- Chiliptiph L 2hGmpynGGtph juuwhwwy Yepwlnpngnid 5113 57,000.0 - 57,000.0
5. Chlpbph qbnupjbwnwlju G muwgnpmy 50,000.0 - 50,000.0
- Clliptiph L phGmpjniGGtph uuwhwwy Yepwlnpngnid 5113 50,000.0 - 50,000.0
PlulwpwGuyhl phGwpupmpyul L §ndnGuy
2650106 5| 0 [owrwympymGGtph 9ony htnmugmmulpul U Gwfnugdowhl 10,000.0 - 10,000.0
upfuuwnwlplhn
nphg”
Plwluwpwlwjhb 2hGwpwpnipjul L YnintGwy SwnwjnipjniGGtph )
2651/06| 5 1 qony htnmwgnuujwt L Gwuwqowjhl wfuwnwipibn 10,0000 10,0000
wyn} pynud’
1. Chlipbph L phlmpin G6Gph hbuugmnuwl wyfuuwnnwpGhp 10,000.0 - 10,000.0
- Lwjuwqowhtinmwgnunuyjwl dwuutp 5134 10,000.0 - 10,000.0
PluwlwpwGuyhl phGwpupmpyul L §ndnGuy
2660(06| 6|0 Ownympnu Gy () puimbphl sumnlwtng) 2,512,086.3 1,298,010.2 1,214,076.1
nphg”
2661061611 Piwluwpwluwyhb phGwpwpnipjul L YnintGw) ownwjnipjntGGtp 2.512,086.3 1,298,010.2 1,214,076.1
(wy] nuubiphG swunnywnn)
wyn pynid”
1. Puquwplwlwpul 26Gpbph hwpp mwhpGph
1. PuqiwpGuwlupub pbGptph hwpp nwGhplt 432,632.1 432.632.1 )
Ybpwlnpngnif
-Cliiptiph L YwnniygGph pGpughy Gnpngmd L wjwhwywGmd 4251 427,607.1 427,607.1 -
-dwnntly GupunwluwhG wy) Gynphip 4269 5,025.0 5,025.0 -
2. PuquupGuliumul pLGphph pbp inuGhpGhph JepwGnpngnid 135,402.0 28,002.0 107,400.0
-Qwnnily GuuwnwluighG wyy Gyniptip 4269 28,002.0 28,002.0 -
- Chliptiph L 2hGnipyniGGtph Juwhwuwy YhpwGnpngnod 5113 107,400.0 - 107,400.0
3. PuljujhG nmwpwoplph L fpwnwhpwwwpnwlGEph
hhdGutin i 1 whwwGans 792,201.6 74,696.1 717,505.5
-Cliiptiph L YunniygGph pGpughy Gnpngmd L wjwhwywGnmd 4251 24,196.1 24,196.1 -




£ymeotmwjhG dwiuutinh gnpowpwwl nuuwwupqiwl

wyn pynid”

=z
z % g 3| pwdhGthph, wiptph L nwubph, hGswbu Guwl pymetnwhG 3 z Clnwiti
E 3 E | owfuutiph mGmbtuwghmwlwb nuuwywpqiwl hnguoGsph g z 1 t Jupswlwl pyoigl | PnGrughG pymet
wljwGnilGbpp ~
1 12(3]|4 5 6 7 8 9
-UtiptGwltph L uvwppwynpnudGlinh ppwughly Gnpngnud L 4252 5,500.0 5,500.0 )
wwhuww lGnid
-dwnntly GupunwluwhG wy) Gyophip 4269 45,000.0 45,000.0 -
- Chliptiph L hGnipyniGGtph Yunnigmy 5112 1,356.0 - 1,356.0
- Chiliptiph L 2hGmpyniGGtph juwhwwy Yepwlnpngnid 5113 688,149.5 - 688,149.5
-Uj dtiptiGwGtp L wwppwynpmiGtip 5129 28,000.0 - 28,000.0
4. Jpwpwihl wwwmrquipGhph Gnpngmy 8,970.6 - 8,970.6
- Chiliptiph L 2hGmpyniGGtph juwhwwy Yepwlnpngnid 5113 8,970.6 - 8,970.6
2 Bwqiwpluupwl 266pph proatlpquwl u 721,880.0 356,680.0 365,200.0
upfuunnwGplGhn
-Chliptiph L YuwnnjgGhph pGpwghy Gnpngm L wwhww Gnod 4251 96,680.0 96,680.0 -
-UnipupnhwGbp ngy whnwlwa (ng hwiw)GpwjhG) ny 4521 )
dpiwGuwul yuqiwybpympniGGipha 260,0000 260,0000
- Clliptiph L phGmpynGGtph uuwhwwy Yepwlnpngnid 5113 365,200.0 - 365,200.0
6. 2nwjhl GwnnijgGbph pwhwgnpdmy b wwhuywlng 276,000.0 276,000.0 -
-Uj1 dwluutip 4861 276,000.0 276,000.0 -
7. Unimnuqdt; wnemgmd L Jmuln 1if 15,000.0 - 15,000.0
- Chlipkiph L hGnipyniGGtph Juwhwuwy Yhpwlnpngnuod 5113 15,000.0 - 15,000.0
8. Gwpmguuiniwl Gepnpmidwihl opwepbph
8. Guwpmguwuunndwi Gb, 1w ihl opwgnk, 100,000.0 100,000.0 )
Qwguwybpumy
-UnipupnhwGtp ny $hlwluwub yhnwub (hwdw)lGpujht) 4511 100,000.0 100,000.0 )
JuquiwlbtpynipniGGaphG
9. Guipuwjuinlh, whwwGniyg 30,000.0 30,000.0 -
- CGpwghy npuiw)GnphGip whnwlwl b hwdw)GpujhG )
wnlunpwihl juqiwybpuynpniGGaphG 4638 30,000.0 30,000.0
2700|107/ 0] 0 UoNNQUAMULNM-3NFL 105,032.0 10,000.0 95,032.0
wyn} pynud’
2710)07) 1| 0 |AdomlwG wiypuwlpGhp, uuppbp L uwppunfnpmuGhp 10,000.0 10,000.0 -
nphg”
2711107] 1| 1 [+tnugnpowul wwypwbpGtp 10,000.0 10,000.0 -
wyn pynui’
1. Ugpwlignipim G wpnnowujwhwjwl ququiwhbpnunipm GGapha )
doljwljwml uwppuninpmubph dbpp pbpswl hudu 16,000.0 10,000.0
-Guuwhwnwy ngpudw) GnphGtp yhmwyuw 6 L hwdwjGpwjht )
wnlanpuwjhG jugqiwlapuynipniGGaphG 4656 10,0000 10,000.0
2760(07| 6 | 0 | Unnyowupiuhmpin G (wyy muubphl supunipulng) 95,032.0 - 95,032.0
nphg”
2761{07| 6| 1 |Unnnowuywhwlwl hwpwyhg ownwjnipjniGitp L Opwgptip 95,032.0 - 95,032.0
wyn pynud”
1. UnnpowywhwilpuG opjblymGhph hhuGwGn, 1 95,032.0 - 95,032.0
- Chliptiph L phGmpyniGGtph Yuwhww) yepwbnpngnid 5113 95,032.0 - 95,032.0
280008 0| 0 [KULARUS, UTUUNF3E GU ULNL 8,174,234.9 1,624,487.4 6,549,747.5
wyn pynid”
2810|081 | 0 |<wlquunp L uwynpunh dwnwynip/niGGhp 6,531,521.1 131,773.6 6,399,747.5
nphg”
2811(08| 1| 1 [Qwlquunp L uynpnh SwnwympynGGtp 6,531,521.1 131,773.6 6,399,747.5
wyn pynud’
1. Uynmnwjhl dhongupnidGhph Juqiwbpunng 91,773.6 91,773.6 -
- Uy pGpwghy npuiwy GnphGhip 4639 91,773.6 91,773.6 -
2. dwliquun wmhGbph L gpnuwjghGh wnnigniy ni 463,760.0 40,000.0 423,760.0
wwhwwlnig
- U1 ppwghy npuidw)GnphGlip 4639 40,000.0 40,000.0 -
- Chliptiph L hGnipyniGGtph Yunnigmy 5112 300,000.0 - 300,000.0
- Chiptiph U 2hGnipymiGGtph Yuwhwwy YhpwGnpngnod 5113 123,760.0 - 123,760.0
3. {bow i Juhpuuywmpu wnnigmy 5,975,987.5 - 5,975,987.5
- Cliliptiph L phGmpyniGGtph unnignud 5112 5,859,948.9 - 5,859,948.9
- Lwiwgdwhtnmwgnnuywl dwhubtp 5134 116,038.6 - 116,038.6




£ymeotmwjhG dwiuutinh gnpowpwwl nuuwwupqiwl

wyn pynid”

P
z % g 3| pwdhGthph, wiptph L nwubph, hGswbu Guwl pymetnwhG 3 z Clnwiti
E 3 E | owfuutiph mGmbtuwghmwlwb nuuwywpqiwl hnguoGsph g z 1 t Jupswlwl pyoigl | PnGrughG pymet
wijuGniGtpp ~
1 1(2)3]|4 5 6 7 8 9
2820(08| 2 | O |UpwympuipG owunuwyjnipymGGLp 1,626,713.8 1,476,713.8 150,000.0
nphg”
2821|108 2 1 |9-punwpwGGtp 261,359.9 261,359.9 -
wyn pynud’
1. QpunwmuGuihl SwnwjmpimGGhp 261,359.9 261,359.9 -
-UnipuhnhwGtp ng $hGwluuul yhmwlwb (hwdw)GpuyhG) 4511 261,359.9 261,359.9 )
JuquwytpwnipniGGtphG
2821|08| 2| 2 [FwlqupuGitp L gniguwupwhibp 193,656.1 193,656.1 -
wyn pynu’
1. PwlGqupubuhl ownuwnipiniGGhp L gmguhwlnbulbp 193,656.1 193,656.1 -
-UnipupnhwGtp ng $hlwluwlub whnwwub (hwiw)lipujht) 4511 193,656.1 193,656.1 )
JuqiwybtpynipniGGtphG
2823(08] 2| 3 [Upwynyyph wbbtp, wynuipGhp, YeGupnGatp 194,834.9 94,834.9 100,000.0
wyn pynud’
1. wdwjGpuhl Wpwlnyph L wqun dwdwlgh Juqiuwlbpynd 94,834.9 94,834.9 -
-UnipuhnhwGtp ng $hGwluwul yhmwlwb (hwdw)GpuyhG) 4511 94.834.9 94.834.9 )
JuquwybpynipniGGtphG
2. Uwlm wnlilinh hhudGwGn; 1 L JGmun, 1if 100,000.0 - 100,000.0
- Chiliptiph L 2hGnipyniGabph uwhumw yepwinpngnud 5113 100,000.0 - 100,000.0
2824(08] 2| 4 Uy vpwynipwjhl YuqiwytpwnipmGGtp 620,883.5 570,883.5 50,000.0
wyr pynid”
1. UpwympwjhG shongunmdGhph hpwlwGugnid 376,245.8 376,245.8 -
-Qnyyph L uvwppuwynpnidGbph yupdwluwnipn b 4216 1,525.0 1,525.0 -
-QpuutiGjulwyhG Gymphp L hwgniun 4261 2,000.0 2,000.0 -
- Uj) pGpughly npwidw)GnphGbp 4639 372,720.8 372,720.8 -
2. Yblnwlwpwlwlwb wiqn gn 1pni GGk 194,637.7 194,637.7 -
-UnipuhnhwGtp ng $hGwlumut yhmwlwl (hwdw)ipujht) 4511 104,637.7 194,637.7 )
JuquwlytpuynipniGGaphG
3. GblinwGwpwlwlwl wigm hhdGwlnpngmy 50,000.0 - 50,000.0
- Chliptiph L phGmipyniGGhph Juuwhwwy ypuwinpngnid 5113 50,000.0 - 50,000.0
2825(08| 2| 5 [Upytiuwm 315,955.1 315,955.1 -
wyn pynud”
1. Gpudymwpybump b ywmupybump hudbpgGap 69,938.3 69,938.3 -
-UnipupnhwGtp ng $hlwluwub yhnwub (hwdw)lGpujht) 4511 69,038.3 69,038.3 )
JuquwltipuynipnGGphG
2. Punnbipulw @ GEplwugnidGhp 246,016.8 246,016.8 -
-UnipuhnhwGtp ng $hGwluwul yhmwlwb (hwdw)GpuyhG) 4511 246,016.8 246,016.8 )
JuquwybtpynipniGGtphG
2827108l 217 <nipwpdwbltph L QQuynypwjhG wpdtpltph yipwywlqlind L 40,024.3 40,024.3 )
wwhwwlnd
wyn pynud’
1. nipwipdwlGhph bpwiGn 10 L upuhujwGnig 40,024.3 40,024.3 -
-CGnhwnip pGnyph wy SwnwynipyniGitp 4239 14,027.3 14,027.3 -
-Chliptiph L YuwnnjgGhph pGpwghy Gnpngmy L wwhww Gno 4251 25,997.0 25,997.0 -
2840|08| 4| 0 | ypnGwlpuG L hwuwpwipulpul wyy ownwjmpjmGGhEp 16,000.0 16,000.0 -
nphg”
2843(08| 4| 3 [upnGwywl L hwuwpwlwlywb wjp SwnwjnipjniGGtp 16,000.0 16,000.0 -
wyn pynud’
1. Unwdwhgmpnub |Jownpbbp 16,000.0 16,000.0 -
-“LyhpwwympjniGhtip wy) Qwhnyp shtnwwlnnn )
YugsultpunipgntGakphG 4819 16,000.0 16,000.0
2900(09]0]0 YpLENkM-3NFL 19,366,908.2 17,507,650.0 1,859,258.2
wyn pynud’
2910|09] 1 | O | vwlnwnuypngwwl L mwppuljw6 pyphwlnip GppnipniG 9,048,307.6 9,048,307.6 -
nphg
2911(09] 1| 1 [vwwnwpngwlwb Yppnpjni 3,590,620.0 3,590,620.0 -




£ymeotmwjhG dwiuutinh gnpowpwwl nuuwwupqiwl

wyn pynid”

P
Z % ‘%"‘ § pwdhGGtph, fuiptiph L nuubph, hGsutu Gul pymetnwjhG ‘B = Clnwiti
E 2|5|¢| owluubph nGwbwughwulut nuuwlupguwe hnpdwottph | F 2 R Jwpgwlwe pynigt | pnbnwhG pynigh
wljuGnmuiGhpp ~
1 ]12(3]4 5 6 7 8 9
wyn pynud |
1. bwfuwnpupngwlwl niunigmy 3,590,620.0 3,590,620.0 -
q‘ig;pwugggigggfﬁqéggﬁﬁﬁ”‘““wﬁ il (hudwyGpugh@) 5,y 3,590,620.0 3,500,620.0 ;
2911|09] 1|2 ﬁﬁiﬁfﬁ;ﬁfﬁ?ﬁﬁm tnprtpymtl (wunypuyuo 5,457,687.6 5,457,687.6 -
wyr pynid”
1. QwpwlppwljwG niunignyd 5,144,702.3 5,144,702.3 -
-CGnhwnip pGnyph wy) SwnwympiniGatp 4239 5,144,702.3 5,144,702.3 -
2. {unm n1p G 111,581.9 111,581.9 -
-CGnhwGnip pGnyph wy SwnwynipyniGatp 4239 111,581.9 111,581.9 -
3. UbpwnwijnuG Yppoipjm G 201,403.4 201,403.4 -
-CGnhwnip pGnyyph wy ownwynipyniGatp 4239 201,403.4 201,403.4 -
2920|109 2| 0 | Upglwlpupg plnhwnip YppnipimbG 6,636,581.4 6,636,581.4 -
nphg
2921|09] 2|1 ;ﬁgﬁi‘l‘ﬁﬁ%ﬁi’)ﬁmp tmpatpymll (unaypuuo 5,623,848.0 5,623,848.0 -
wyr pynid”
1. QwlpuwppwljwG niunignid 5,262,206.1 5,262,206.1 -
-CGanhwnip pGniyph wy) OwnwympiniGatp 4239 5,262,206.1 5,262,206.1 -
2. dunnn nipnt i 176,590.5 176,590.5 -
-CGanhwnip pGniyph wy) OwnwympyniGatp 4239 176,590.5 176,590.5 -
3. LbpwnwlpwG YppnipjniG 172,631.5 172,631.5 -
-CGnhwnip pGniyph wy) OwnwynmpyniGatp 4239 172,631.5 172,631.5 -
4. GpliynjwG Uppmpm G 12,419.9 12,419.9 -
-CGanhwnip pGniyph wy) OwnwynmpyniGatp 4239 12,419.9 12,419.9 -
2922|09| 2| 2 E}ﬁﬁiﬁg}&lﬁnﬁmwﬁmp unpnipniG (Wumyhpwlwo 1,012,733.4 1,012,733.4 -
wyn pynud’
1.  wlpwhnpwljwG niunigmy 980,750.8 980,750.8 -
-CGnhwnip plnyph wy SwnwympyniGGtp 4239 980,750.8 980,750.8 -
2. dunnni nipniG 13,583.9 13,583.9 -
-CGnhwnip plnyph wj SwnwympniGGtp 4239 13,583.9 13,583.9 -
3. bbpwnwlwl Yppnipjm G 4,038.2 4,038.2 -
-CGnhwnip pnyph wj SwnwympyniGGtp 4239 4,038.2 4,038.2 -
4. GpbynjwE Yppmpmi G 14,360.5 14,360.5 -
-CGnhwnip pnyph wj SwnwympniGGtp 4239 14,360.5 14,360.5 -
2930(09] 3| 0 ffﬂi”;,’ﬁigﬂ%ﬁ,ﬁﬁ?ﬁ (wphtunwgnpowyu) L dhehl 293,630.2 293,630.2 ;
nphg”
‘Lwhulwwl dwuwghnwlywl (wphtiunmwgnpowlywl
2931{09( 3|1 l]pprrllip_]nlllﬁ - th‘i‘q le‘é mufq;‘pmpjm e hwt) 293,630.2 293,630.2 -
wyn} pynud’
.LZIH.E;;?BIQI Hﬁluﬁ.lymﬁ dwuGwghunmulwl (wphbumwgnpowljuG) 242.796.4 242.796.4 )
-CGnhwnip pGniyph wy) OwnwynmpyniGatp 4239 242,796.4 242,796.4 -
-Uppwlu, SpwynipwjhG L uynpuwjhG GuuwuwnGhp pjnigtihg 4727 50,833.8 50,833.8 -
2950|09] 5 | 0 | Luwnn dwlpupnulGph snuuwlupgynn ippmipim i 1,656,772.3 1,506,772.3 150,000.0
nphg
2951(09]| 5| 1 [Upnwnwpngulw i nuunhwpwynipniG 1,656,772.3 1,506,772.3 150,000.0
wiyr pynid”
1. Unnunypngulwl nuumpwnuympini G 1,500,298.3 1,500,298.3 -
-CGnhwGnip pGnyph wy SwnwynipyniGatp 4239 41,384.3 41,384.3 -
-UntpupnhwGbp ng hGwGuuyub whnwub (hwiw)lGpujhG) 4511 1,458.914.0 1,458,914.0 )

JququwytpwnipniGGtphG




£ymeotmwjhG dwiuutinh gnpowpwwl nuuwwupqiwl

wyn pynid”

P
z % g 3| pwdhGthph, wiptph L nwubph, hGswbu Guwl pymetnwhG 3 z Clnwiti
E 3 E | owfuutiph mGmbtuwghmwlwb nuuwywpqiwl hnguoGsph g z 1 t Jupswlwl pyoigl | PnGrughG pymet
wijuGniGtpp ~
1 ]12(3]4 5 6 7 8 9
2. Upnumypngulwl juquwlbpunipmiGGaph )
hpfGwnpngmy L JbpwGnpngnid 150,000.0 150,000.0
- Chlptiph U 2hGnipyniGGtph Juwhwwy ypuwinpngnid 5113 150,000.0 - 150,000.0
3. «{wlnp Yngnpul» whwdwihpn MNUG-my
wmnuw. wljwl nuumpwmuinipyuwl Juqiwibpumd 6,474.0 6,474.0 -
wunfhpwlpjwo (hwqnpnipini GG,
-CGanhwnip pGniyph wy) OwnwynmpyniGatp 4239 6,474.0 6,474.0 -
2960|09] 6 | O | Uppmipywlip npurdnmijnng odwlinuly owmujnipyoGGhp 1,731,616.7 22,358.5 1,709,258.2
nphg
2961(09] 6 | 1 [uppnipjwlp npwdwnpynn odwlnuly dwnwjnipjniGhtp 1,731,616.7 22,358.5 1,709,258.2
wyn pynud’
1. bwpnwpypngujwl hwmnwmmpmG6bph hinfGwGnpngmid b
1. Gwfuw whwl hwununinmpimGitph hhdGwin g L 1,731,616.7 22.358.5 1,709,258.2
Yhpulinpngnid
-Chliptiph L YuwnnjgGhph pGpwghy Gnpngmd L wwhww Gno 4251 11,228.5 11,228.5 -
-Qwwnnily GuuwnwluighG wyy Gyniptip 4269 11,130.0 11,130.0 -
- Chliptiph L 2hGnipyniGatph Yuiyhwwy YepwGnpngnud 5113 1,709,258.2 - 1,709,258.2
3000|10|0]0 unshuLUuUL NUCSNAULNRME3NFL 551,844.3 551,844.3 -
wyn pynud’
3050(10| 5| O | @npowqplympymb 49,644.0 49,644.0 -
nphg
3051|10| 5| 1 [QnpowqpynmpjniG 49,644.0 49,644.0 -
wyn pynud ©
1. Jwpdwwpynng hwuwpwlpuljwl wyfuwuwGplbn 49,644.0 49,644.0 -
-UpfuwwnnnGtph wpuwmnwjwpébp W hwybpuGupGhp 4111 40,566.4 40,566.4 -
-UnghwjulwG wwywhnynipjub J&wnpGhp 4131 8,892.0 8,892.0 -
-QGnuutiGyuyuwyhG Gyniptip L hwgniun 4261 162.7 162.7 -
-Uyj| dwifuubip 4861 22.9 22.9 -
3070l10| 710 Unghwywlpu G hwmml wpnnGmpymGGEp (wj) nuiubphl 204.694.5 294.694.5 )
Suyuinlwling)
nphg”
3071l10l 711 Unghwjuwl hwwnml wpnnGnipjniGatp (w)) nuutphG 204.694.5 294.694.5 )
swywwnjwlng)
wyn pynud”
.
1. Unghwjwuwbu wiwujwhny pGunwGhpGbph tpbkfuwuGbph 3,000.0 3,000.0 )
hwlqunh Juquwlbpynid
-Qnyyph L uwppwjnpmiGhph JuwpdwlywnipymG 4216 2,300.0 2,300.0 -
- Uy pGpwghy npuiwy GnphGhip 4639 700.0 700.0 -
2. Qwmuquin sniGh; wldwlg b unghwiwubu wlwupuhn
GunwGhpGlinh hwdwnp hniuwphwynpmpws Gwquwhbpuynid 31,348.0 31,3480 i
-CGnhwGnip pGnyph wy) SwnwynpniGGtp 4239 31,348.0 31,348.0 -
3. Unghwpwuyby wlwwwhny pliunwhpGbphl wnlwln
3. Unghwjwuwbiu whwuwhm] nGunuwlhpGhphl mniwljwd 132,921.5 132.921.5 )
oplphl wowlgnip ot
-Qnyph L uwppwynpnudGiph JupdwlwinipniG 4216 500.0 500.0 -
-{wwnny Guyuwnwluwjhl wy Gympbp 4269 8,100.0 8,100.0 -
- Uy nGpwghy npuwiw)GnphGbp 4639 96,621.5 96,621.5 -
-Uj1 GywumGlp pymotihg 4729 27,700.0 27,700.0 -
4. Unghwpwwbu wlwwwhny wlidwlg wowlgnipini G 113221.0 113,221.0 -
-Gnyyph L uwppwynpmiGhph JupdwlwmpniG 4216 10,800.0 10,800.0 -
-CGnhw@nip pGnyph wy) dwnwynpniGGtp 4239 3,396.0 3,396.0 -
~wwnnily Gyunwluyh wy Gnipkp 4269 1,825.0 1,825.0 -
-Untpupnhw@bp ny whnwywG (ng hwiw)GpwjhG) ny 4521 )
Phlwluwljul jugiwybpynmpmGGaphG 2,400.0 2,400.0
- U1 pGpughy npudw)GnphGtip 4639 8,000.0 8,000.0 -
-Uj) GyuwuwnGhp pjmotihg 4729 86,800.0 86,800.0 -
5. Qwuwpwljulu G juquwlbpympimGGLphG wowlgnipniG 14,204.0 14,204.0 -
-“LyhpwwympjniGGtip wy) Qwhnyp shtnmwwylnnn 4819 14.204.0 14,204.0 )

JuquiwlbtpynipniGGaphG




z £ymetmwhG dwhubnh gnpdwewywl guuwwpgiui wyn pynud”
Z % ‘%"‘ § pwdhGGtph, fuiptiph L nuubph, hGsutu Gul pymetnwjhG ‘B = Clnwiti
E 2|5|¢| owluubph nGwbwughwulut nuuwlupguwe hnpdwottph | F 2 R Jwpgwlwe pynigt | pnbnwhG pynigh
wljuGnmuiGhpp ~
1 12)3|4 5 6 7 8 9
3090|10] 9 | O | Unghwplju 6 wupwmuwinipyni G (wy; nuiubphl syunnljubGnng) 207,505.8 207,505.8 -
nphg”
3091(10] 9| 1 [UnghwpuywC wuwpumuwimpymG (w) nuutphl suyunlwng) 207,505.8 207,505.8 -
wyn pynud’
1. Unghwjwwl oglGmpjwul SwnwmpimGGaph
omGmp b ququubpymy (wuujhpuljud 207,505.8 207,505.8 -
(huignpmipimG66p)
-UpfuwwmnnGbph wpuwwnwywpdbp b hwybpuddwpGbp 4111 163,583.4 163,583.4 -
-Unghwjuw6 wuywhnynipjwl JGwpbp 4131 32,933.7 32,933.7 -
-EGtpqtinmhy dwnwjmpyniGGtp 4212 3,935.2 3,935.2 -
-UniniGwy dwnwnipniGhtp 4213 835 83.5 -
-Quyh dwnwynipyniGGhp 4214 1,944.5 1,944.5 -
-Qnyph L vwppuwynpmiGhph Jupdwuinipjn G 4216 375.6 375.6 -
“LtipphG qnponmuiGtp 4221 48.0 48.0 -
-Stintunjwlwl dwnwjmpyniGhtp 4234 28.0 28.0 -
-CGnhwnip pnyph wy SwnwympyniGGtp 4239 256.9 256.9 -
-Cliiptiph L unniygGlph pGpughy Gnpngmd b ujwhuyw Gnud 4251 30.0 30.0 -
-QpuubiGyulughG Gympbp L hwgniun 4261 2,958.5 2,958.5 -
-SpwGuwnpuwjhG Gynipbp 4264 1,238.5 1,238.5 -
-UtiGgwnwjhG L hwGpwjhG uGGnh Gymptp 4267 90.0 90.0 -
{hULVULUUL AUFRULULELRL Q- UUMNA,
3100(11|0(0 MULNRISUBRL DALAGL 1,319,918.6 4,116,039.6 20,000.0
wyn pynud”
81101111110 << qunwjupmpyub L hwdwyGpGhph wyuwhnunuwhG ol 1,319,918.6 4,116,039.6 20,000.0
nphg”
3112|11| 1| 2| hwifw)GpGhph wwhniunwhG $ntin 1,319,918.6 4,116,039.6 20,000.0
wyn pynud”
-NuwhnmuwnwjhG dhongGtip 4891 1,319,918.6 1,299,918.6 20,000.0
~{wwnlfugnid wwhniuwwnwjhG $nGnhg $nGnwjhG pynigk X - 2,816,121.0 -




